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Ex/CBCS/UG/AECC/SAN/2019

BACHELOR OF ARTS EXAMINATION, 2019
(1st Year, 2nd Semester)

SANSKRIT

[Ability Enhancement Compulsory Course
(AECC) (Sanskrit)]

Full Marks : 50 Time : Two Hours

The figures in the margin indicate full marks.

õFæFWa ÒèÎFF: õF]ÞP;FÞF ¼WæFÎFF;FÞUPáFÑÜFF ˜F õFÛFFÍFWÜFF:—

1— EÍFXPáFP&F¶FWðF] ÑF¦˜F ÒèÎFF: õFÛFFÍFWÜFF: < 2×5=10

(=+) P=+ÛFh-èFÙ¼õÜF ÑF]kPõF ˜F¶F]»ÜFFa: J=+æF˜FÎFõÜF àÑFÛFæFáFÛÙÜF
æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(&F) æFFPÞ-èFÙ¼õÜF ðFòÝF: ÙFCæF˜FÎFõÜF àÑFÛFæFáFÛÙÜF æFFƒÜF;F*ÎFk
P=e+ÜF¶FFÛFh—

(;F) ;F ]PµFÎF h-èFÙ¼õÜF Ò»FÛFFÜFF: ÙFCæF˜FÎFõÜF àÑFÛFæFáFÛÙÜF
æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(fF) ÛFF¶F _-èFÙ¼õÜF PÂ¶FUÜFFÜFF: J=+æF˜FÎFõÜF àÑFÛFæFáFÛÙÜF
æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(‘~) G¼ÛFh-èFÙ¼õÜF Põ·FÜFFk ðFòÝF: PÂæF˜FÎFõÜF àÑFÛFæFáFÛÙÜF
æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(˜F) õFU¶FF-èFÙ¼õÜF ðFòÝF: J=+æF˜FÎFõÜF àÑFÛFæFáFÛÙÜF æFFƒÜF;F*ÎFk
P=e+ÜF¶FFÛFh—
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2— EÍFXPáFP&F¶FWðF] ÑF¦˜F ÒèÎFF: õFÛFFÍFWÜFF: < 2×5=10

(=+) õFWæFh-ÍFF¶FX: áF‘h~-áF=+FÞõÜF H¸FÛFÑF]ßðFõÜF J=+æF˜FÎFõÜF
àÑFÛFæFáFÛÙÜF æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(&F) ¼_èFh-ÍFF¶FX: áF©h-áF=+FÞõÜF Ò»FÛFÑF ]ßðFõÜF J=+æF˜FÎFõÜF
àÑFÛFæFáFÛÙÜF æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(;F) èFU-ÍFF¶FX: áF_©h-áF=+FÞõÜF ÛFÍÜFÛFÑF]ßðFõÜF J=+æF˜FÎFõÜF
àÑFÛFæFáFÛÙÜF  æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(fF) =e+U-ÍFF¶FX: áFX©h-áF=+FÞõÜF H¸FÛFÑF]ßðFõÜF ÙFCæF˜FÎFõÜF
àÑFÛFæFáFÛÙÜF æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(‘~) £FF-ÍFF¶FX: PáF‘h~-áF=+FÞõÜF Ò»FÛFÑF]ßðFõÜF ÙFCæF˜FÎFõÜF
àÑFÛFæFáFÛÙÜF æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

(˜F) =_+-ÍFF¶FX: áF _©h-áF=+FÞõÜF Ò»FÛFÑF ]ßðFõÜF PÂæF˜FÎFõÜF
àÑFÛFæFáFÛÙÜF æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh—

3— EÍFXPáFP&F¶FWðF] ÑF¦˜FFÎFFk æFFƒÜF;F*ÎFk P=e+ÜF¶FFÛFh < 1×5=5

(=+) õF=_+¶Fh

(&F) &FFP¼¶F]ÛFh

(;F) ;F¶æFF

(fF) Gù

(‘~) ÒµFÛÜF

(˜F) ÎFƒ¶FÛFh
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4— EÍFXPáFP&F¶FWðF] ÑF¦˜FFÎFFk õFPÎÍF: P=e+ÜF¶FFÛFh < 1×5=5

(=+) ÛFÍF] + EPÞ:

(&F) ÞFÛF: + P˜FÎFXP¶F

(;F) õFæFa: + EPõ¶F

(fF) ÑFèÜF + J¶FFÛFh

(‘~) ;F”~F + H¼=+ÛFh

(˜F) Gù + JæF

5— EÍFXPáFP&F¶FFÎFF k ÞW&FFP’~¶FÑF¼FÎFF k ÑF¦˜FFÎFF k =+FÞ=+-PæFÚFPƒ¶F:
H˜ÜF¶FFÛFh < 1×5=5

(=+) šF·FõÜF ÞFÛF W ÚFPƒ¶F:—

(&F) èF]ÚF¼UÑF: PÂ˜FP=e+=+ÜFF ;F_ùk ;F˜šP¶F—

(;F) ÙFFáF=+: ;F_ùk ;F˜šP¶F—

(fF) ¶FõÜFY ×+áFk ÞX˜F¶FW—

(‘~) PæFÃFáFÜFF¶Fh EF;F˜šPÛF—

(˜F) õF: ˜FÎ½k ÑFèÜFP¶F—

6— EÍFXPáFP&F¶FWðF] ÑF¦˜FFÎFFk àÑFFPµF H˜ÜFÎ¶FFÛFh < 1×5=5

(=+) ;FÛFh + áÜF]©h

(&F) =_+ + ¶FæÜF¶Fh

(;F) ÑF*h + ƒ¶FæF¶F](Põ·FÜFFÛFh)

(fF) Ò-=_+ + áÜFÑFh
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(‘~) õÛF_ + EÎFUÜFÞh

(˜F) ¼_èFh + ¶F]ÛF]ÎFh

7— EÍFXPáFP&F¶FWðF] ÑF¦˜FFÎFFk æFF˜ÜFFÎ¶FÞk P=e+ÜF¶FFÛFh < 2×5=10

(=+) EFæFFk ˜FÎ½k ÑFèÜFFæF:—

(&F) ÞFÛF: õFU¶FFk ÑFèÜFP¶F—

(;F) ÛFÜFF ˜FÎ½: ¼_èÜF¶FW—

(fF) õFæFWa PæFÃFáFÜFk ;F˜šPÎ¶F—

(‘~) ¶FW õFæFWa ÎF EF;F¶FæFÎ¶F:—

(˜F) Eùk P=k+ =+»FFPÜFðÜFFPÛF—
–––––––––
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